
Paddington v Redfern, 31 January 1903
Bowlers Ov. Score Wkts Batsmen Note/Batsmen OUT

E Hume(1) 0-4 .[4e]4.[1e]. ..42.. E Prowse(1) 0-6 2 15 0 VT Trumper 10(11) ..4.. | ..42.. . | D Gee 0(1)  (1.1) 2:15 South end (Phillip St) (2.1) North (Park) 

endE Hume(2) 0-13 1...44 1...1. E Prowse(2) 0-8 4 26 0 VT Trumper 19(20) ...44 | ...1 1 | 1. D Gee 2(4)

E Hume(3) 0-24 4.5.11 .....4 E Prowse(3) 0-12 6 41 0 VT Trumper 33(30) 4.51 | .....4 .1 | D Gee 3(6)

E Hume(4) 0-33 .1.44. .1.4.. E Prowse(4) 0-17 8 55 0 VT Trumper 45(38) .44. | .4.. .1 | .1 D Gee 5(10)

W Hume(1) 0-7 .4..21 1..41. E Prowse(5) 0-23 10 68 0 VT Trumper 50(42)  | ..41 .4..21 | 1. D Gee 13(18)

W Hume(2) 0-8 ...[1e].1 .1442. A Hanigan(1) 0-11 12 81 0 VT Trumper 60(50) .... | 442. .1 | .1 D Gee 15(22)

W Hume(3) 0-13 1.1..3 ....14 A Hanigan(2) 0-16 14 91 0 VT Trumper 65(53) .1 | 4 1..3 | ....1 D Gee 20(31)

W Hume(4) 0-17 ..11.2 ..41.1 A Hanigan(3) 0-22 16 101 0 VT Trumper 71(58) 1 | ..41 ..1.2 | .1 D Gee 24(38)

W Hume(5) 0-20 ...12. ...44[1e] E Prowse(6) 0-31 18 113 0 VT Trumper 73(60) 2. | ...1 | ...44. D Gee 33(48)

W Hume(6) 0-27 .41.11 ..44.1 E Prowse(7) 0-40 20 129 0 VT Trumper 74(62) .1 | .411 | ..44.1 D Gee 48(58)

W Hume(7) 0-33 .24..[1e] .4424. E Prowse(8) 0-54 22 150 0 VT Trumper 74(62)  | .24... | .4424. D Gee 68(70)

W Hume(8) 0-45 2414.1 ...444 EA Creswick(1) 0-12 24 174 0 VT Trumper 81(65) 241 | 4.1 | ...444 D Gee 85(79)  (23.4) ? score says 1 (23.5) ? score says 1 (23.6) 

Bowler injuredE Hume(5) 0-49 451114 [1e]1..32 EA Creswick(2) 0-18 26 197 0 VT Trumper 98(71) 4514 | 12 11 | ...3 D Gee 90(85)  (25.2) straight

E Hume(6) 0-65 45.511 ..1.41 EA Creswick(3) 0-24 28 219 0 VT Trumper 105(77) .51 | ..1 451 | .41 D Gee 105(91)

T Foster(1) 0-7 1.411. 1.1142 AT Sone(1) 0-9 30 235 0 VT Trumper 117(85) .41. | .142 11 | 11 D Gee 109(95)

T Foster(2) 0-21 151115 5.1.1. AT Sone(2) 0-16 32 256 0 VT Trumper 134(91) 515 | 5.1 111 | .1. D Gee 113(101)  (31.2) straight (31.6) straight (32.1) straight

G Houghton(1) 0-5 .4...1 ..5412 AT Sone(3) 0-28 34 273 0 VT Trumper 146(101) .4...1 | ..52  | 41 D Gee 118(103)  (34.3) straight

G Houghton(2) 0-11 .1..5. 454415 W Jesson(1) 0-23 36 302 0 VT Trumper 165(107) ..5 | 455 .1. | 441 D Gee 128(109)  (35.5) "nearly dislodged baker" (36.2) into the park 

(36.6) into the parkG Houghton(3) 0-13 ...11. ...111 W Jesson(2) 0-26 38 307 0 VT Trumper 167(113) ...1. | 1 1 | ...11 D Gee 131(115)

G Houghton(4) 0-28 .15.54 .41.44 W Jesson(3) 0-39 40 335 0 VT Trumper 184(118) 54 | .44 .1.5 | .41 D Gee 142(122)

EA Creswick(4) 0-30 411... ..45.. E Prowse(9) 0-63 42 350 0 VT Trumper 194(123) 1 | ..45 41... | .. D Gee 147(129)  (42.4) Direction?

EA Creswick(5) 0-42 .2.541 144424 E Prowse(10) 0-82 44 381 0 VT Trumper 219(132) .2.5 | 44424 41 | 1 D Gee 153(132)  (43.4) long on 4:15

EA Creswick(6) 0-57 144141 3.4111 E Prowse(11) 0-92 46 406 0 VT Trumper 234(139) 441 | .411 141 | 31 D Gee 163(137)

E Newton(1) 0-8 1.4.12 11.12. E Prowse(12) 0-97 48 419 0 VT Trumper 240(144) 12 | 12. .4.1 | 1.1 D Gee 170(144)

E Newton(2) 1-12 1.111W ...1.4 E Prowse(13) 0-102 50 428 1 VT Trumper 243(151) .11 | ...1 11W | .4 WR Iredale 4(2) 423/1

E Newton(3) 1-13 .....1 .....2 E Prowse(14) 0-104 52 431 1 VT Trumper 246(163) .....1 | .....2  | WR Iredale 4(2)

E Newton(4) 1-20 411..1 112.51 E Prowse(15) 0-114 54 448 1 VT Trumper 249(166) 1 | 11 41..1 | 12.5 WR Iredale 18(11)  (54.5) square leg

E Newton(5) 1-27 ...2.5 51251. E Hume(7) 0-79 56 469 1 VT Trumper 268(176) ...2.5 | 525.  | 11 WR Iredale 20(13)  (56.1) Direction? (56.4) Direction?

E Newton(6) 1-34 .[1e].2.5 4.511. E Hume(8) 0-90 58 488 1 VT Trumper 285(184) .2.5 | 4.51 .. | 1. WR Iredale 21(17)  (58.3) long on

E Newton(7) 1-43 11.115 5.414. E Hume(9) 0-104 60 511 1 VT Trumper 301(191) 1.15 | 54. 11 | .41 WR Iredale 28(22)  (59.6) midoff (60.1) Direction? (60.5) 5:02

E Newton(8) 1-50 1.114[4e] .21445 E Hume(10) 0-120 62 538 1 VT Trumper 319(198) .14. | 445 11 | .21 WR Iredale 33(27)  (62.6) Direction?

E Newton(9) 1-64 2.5.34 11W4W1 A Hanigan(4) 2-29 64 559 3 P Winning 1(1) 2.54 | 14W1 .3 | 1W F Gow 0(0) 554/2 (Iredale); 558/3 (Trumper)

G Houghton(5) 0-33 ...131 ....44 A Hanigan(5) 2-37 66 572 3 P Winning 11(12) ...11 | ....44 3 | F Gow 3(1)

G Houghton(6) 1-33 ...W.. ..W.2. A Hanigan(6) 3-39 68 574 5 R Carty 2(3)  | ..W.2. ...W.. | EG Noble 0(2) 572/4 (Gow); 572/5 (Winning)

G Houghton(7) 1-34 ....1. .1..11 A Hanigan(7) 3-42 70 578 5 R Carty 3(7) . | ..1 ....1 | .11 EG Noble 3(10)

G Houghton(8) 1-36 ..1..1 11..51 A Hanigan(8) 3-50 72 588 5 R Carty 10(14) ..1 | 1..5 ..1 | 11 EG Noble 6(15)  (72.5) Direction?

G Houghton(9) 2-36 .....W 1.12.4 A Hanigan(9) 3-58 74 596 6 R Carty 17(18)  | 12.4 .....W | .1 AC Bannerman 1(2) 558/6

G Houghton(10) 2-36 ...... 14.1.1 A Hanigan(10) 3-65 76 603 6 R Carty 19(21)  | 1.1 ...... | 4.1 AC Bannerman 6(11)

G Houghton(11) 2-37 1..... .211.1 A Hanigan(11) 3-70 78 609 6 R Carty 24(27) 1 | .21.1 ..... | 1 AC Bannerman 7(17)

G Houghton(12) 3-39 W2.... ..4..2 AT Sone(4) 0-34 80 617 7 A Marshall 2(5) W2.... |  | ..4..2 AC Bannerman 13(23) 609/7

G Houghton(13) 4-39 ....W. ...... AT Sone(5) 0-34 82 617 8 J Kelly 0(1) ....W. |  | ...... AC Bannerman 13(29) 617/8

G Houghton(14) 5-40 ...W1. ...... AT Sone(6) 0-34 84 618 9 MA Noble 0(1) ...W. | 1 | ...... AC Bannerman 14(36) 617/9

G Houghton(15) 5-40 ...... 85 618 9 MA Noble 0(7) ...... |  | AC Bannerman 14(36)  (85.6) 6:15

6:15 day 1, 618/9 decl.


